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S

UL

03 RIHA2Z2XNE+ 22,755 0 22,755
Ar 22,755
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10,778

5,388
6,589
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OlZ2 X =34l 13,812,000& 13,812

P 6,906

_37_




SH: EHA
A 3gE oY 24
SRl 2Ed oY (9 EH
- _ _ HNE
SN -ZH-S2A(EA) - NRAY - BES Off &4 07“‘;5? Hnsz
= 3,453
= 3,453
—go ¥ 3 52,452,000& 52,452
Jl 26,226
== 13,113
= 13,113
—BE=XZS0HE 788,000 788
P 394
- 197
= 197
2 144,562 145,972 A1,410
101 el Hl 51,737 47,757 3,980
04 JI2N22XNSE+ 51,737 47,757 3,980
ogddas o=y 51,737
—Jl=a 34,910 x13E x100& 45,383
—402E 45,383,000 *14% 6,354
201 Yer2 | 3,175 675 2,500
01 AtR2telH] 675 675 0
oggoe: 2 & 2X+7Y 45,0003 15 675
02 33244 2,500 0 2,500
O & EHl ==cltH 100,000& «250H 2,500
206 X = Hl 86,900 94,790 AT7,890
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— & H 5,000& %300 ¢ 1,500
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= 32,811
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01 A EZ P =H] 6,116 6,116 0
OJIBEZAY 6,116
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OZHIEZ ALY 120
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HH: HYSEFY (22L)
Rl JlEdl (el &
SA-BY () - HRAY - BES 0f & o4 e HI DS 2
—22AX A 30,0003 * 109 A+ 123 3,600
Oorrel 70,560
—222 1,750 %60 £ *4Al 2tx100L 42,000
—22AXA 1,400 %1.7 £ 6 A 2tx20H %1002+ 100 £ 28,560
OXr &= Al 34,040
—A8SE(3LS 1,500018) 4,750,000 504 23,750
— 285 (FR,36205) 3,400,000 = 1CH 3,400
— 2832 (R, 1E0I5) 3,430,000& »1CH 3,430
—S=IH(FESXH) 3,460,000& = 1CH 3,460
OXgEE =g 465,000 *8CH 3,720
OXSAHA 1,960
—2ESE 350,000 »5CH 1,750
— S 110,000& = 1CH 10
—28st= 100,000 = 1CH 100
(OF==P/ FaE == 1,340
— it 40,0002 »3CH*22 240
—ANE= 50,0003 110 23] 1,100
OoRER=s 300,000& x12& 3,600
202 01H] 112,200 102,315 9,885
01 2O 112,200 102,315 9,885
O2 Lol 120,000 558« 123 79,200
OZ2l ¢ 75,0002 x55 2 x8 33,000
203 YR E Y| 8,140 8,220 80
02 §3 et 2= 2,200 2,280 A80
Od I R =aH| 40,0002 x55E 2,200
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